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When one other witness comes, he will combine with him

Overview

The &3 compares 'R 7V to 1%y °5 Y that just as by an X"V if another 7v comes, they
can combine as a valid testimony and achieve a conviction, the same is ¥y 5"y that
if 0°7¥ come later he will be convicted (even though initially he was 7711). A cursory
reading would indicate that (even) if the second 7¥ came later, he can still combine
with the first 7v.! Our Mmoo qualifies this assumption.
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According to the one who maintains in }°97;730 n>0» that their testimony (of two
witnesses) is not combined (to be considered a proper testimony) unless they both

testify together as one, so how can we say here that the one witness can come later and
combine with the first witness?!

Mmoo responds; we will have to say -
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Here when the X713 states that the second witness combines with the first witness,
it means that they will both testify together [as one] in 7''52.

Summary
According to one opinion both 2>7v need to testify together as one.

Thinking it over
1. According to this 7", does 777772 77WX¥A mean that the second 7¥ joins the first 7y,
or that the first 7¥ joins the second 7¥?

2. Is the comparison to 13y 5"y valid* according to '01n answer?

! That is how it is by %Yy 0"y that the 0>7v came later, so similarly by X"y (which the X3 compares to %3y 5"v), the
second 7Y came later. See ‘Thinking it over’ # 2.

2 This is the p"n of 101 ". However, 1"7 maintains that the 2>79 can come (even) on separate days.

3 The "7 mman amends this to read, 722 78> 07w (instead of 721 oaw). This means that when the second 7y
comes, the first one should join him and they testify together. See ‘Thinking it over’ # 1.

4 See footnote # 1.
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